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376 square cm, then what is the thickness of

‘(a)

A closed box is built of wood of uniform
thickness, Its'external dimensions are 12 cm,
10 em and 8 em. If the inner surface area is

the wood ?

(@) 05cm

(b)

lcm
(0 1'5 cm

(d)

2 cm

.X, Y and Z are three eqﬁilateral triangles. The |

sum of the areas of X and Y is equal to the
area of Z. If the side lengths of X and Y are
"6 cm and 8 em respectively, tl}en IWhat is the
side length of Z ? '

9cm

(b) 9:5cm

(¢ 10cm 5 . 3 6.__

@) -« 10-5 cm

What is the time takeﬁ_ by a person: to cover
one round of a circular ‘park of diameter 210 m

) 22
if he walks at a speed of 6 km/hr ? (= 7)

(a)

6-6 minutes
(b)  5-:5 minutes
(c) 44 minutes-

3-3 nﬁnﬁtes

d

(3=C)

In an equilateral triangle of side 23 cm, a
circle is inscribed touching the sides. What is
the area of the remaining portion of the
triangle ?

(a) (2v3 - ) square cm
(b) (33 -m)squarecm .
(© (43 —2n) square'cm
(@ (443 - m) square em

A triangle has side lengths x c¢m, x + 13 cm
and x + 26 cm. If its area is 126 square cm,

-then what is the value of x ?

(a) 18
(b) 17 |
(c) 16
d 15.

ABCD is a parallelogram. A circle through A,
B and C intersects CD (produced) at E. Which

“of the following is/are correct ?

1. AE=AD
2. CD=DE

Select the correct answer using the code given

below :
(a) Only1
(b)  Only 2

() Bothland?2

(d) Neither 1 nor 2
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Consider the following statements :

1. In an equilateral triangle, the centroid
and centre of circumcircle coincide.

2. Angle bisectors of a cyclic quadrilateral

form another cyclic quadrilateral.

3. Every cyclic

rectangle.‘

"Which of the statements givén above are

correct ?

(a) Only1l and 2

(» Only2and3

() Onlyland3 |
(@ 1,22nd3

. ABCD is'a trapezium in _Whi(:_h AB is parallel
to DC. The vertices A, B, C and D pass
through a circle. Which of the following are

-correct?, .

1 . AD=BC
2. LA+2C=180°
3. ZA+ZD=180°

Select the correct answer using the code given

below :
(a) (Only land 2
(b) Only2and3
' (c)‘ Orily 1and 3
(d 1,2and3 ‘
\

parallelogram is a|

10.

Ad)

ABCD is a eyclic quadrilateral. AB and DC
when produced, meet in E. Which of the
following statements is/are correct ?

1. A EBC is similar to A EAD.
2. Z CBE +  DAE = 180°.

Select the correct answer using the code given

below :
(a) Only1
Only 2

(b)
() Both1land2

Neither 1 nor 2

7

In a triangle ABC, DE is a line segment which

" intersects AB at D and AC at E such that DE

is parallel to BC..The line segment divides the
triangle in two parts of equal area. What is

—— equal to ?

V2 -1 .
2

(a)

?I

(b)

o

o

(c)

) a‘

(d)



11. The height of a cone is 30 cm. A small cone is
cut off at the top by a plane parallel to its
- ; .1
base. If its volume 1s 57 of the volume of the
given .cone, then what is the height of the
frustum of the cone ? ‘
(a) 10cm
(b) 12cm
(¢) 18cm
(d 20cm
12. A rectangular metadl sheet is of length 24 cm
and breadth 18 cm. From each of its corners a
square of side x cm is cut off and an open
box is made of the remaining sheet. If the
volume of the box is 640 cubic cm, then what
is the value of x ? : v
@ 2
(b) 3
(c) 4
@ 6
13. Letx,y, z be the léngth', breadth, height of a
cuboid. If its volume is 400 cubic cm and’
total surface area is 340 square cm, then what
is xl+yl+zlequalto?
17 |
(a) %‘
17
(b —
¢ 40
T
( —
ST .
a =
10
+ FDGT-T-EMT (7-

14.

15.

16.

'»(c)

17.

, (b)

Two parallel sides of a trapezium are 29 c¢m
and 21 cm. Non-parallel sides are equal and
each is of length 8:5 cm. What is the area of
_the trapezium ?

(a) 1875 square cm
2275 square cm

(c)
(d)

375 square cm

455 square cm

A square copper plate of side 16 cm weighs
128 gm. A circular disc of diameter 14 cm is
cut off from the plate. What is the weight of

x, 2
the remaining part ? (n = 27 )

48 gm

(a)

(b) 49gm

¢ 50gm-
@ 5lgm

!
The area of a rhombus is 96 square cm and

one of its diagonals is of length 12 cm. What is

the perimeter of the rhombus ?

(a) 36cm

(b) 40cm -
. 44 cm

(d) 48cm

A right-angled triangle ABC is inscribed in a
circle of radius 10 cm. The altitude drawn to

. the hypotenuse AC is of length 8 cm. If

. ()
- (c)

C)

AB = x cm and BC = y cm, then what is the
value of xy ?

(a) = 60
80
120

@, 160




Two circles touch externally. The sum of their

-18.
areas is 89n square cm and the distance
~ between their centres is 13 em. What is the
difference in their radii ?
(a) 2cm
(b) 25cm ~
(¢ 3cem:
(d). 35cm
19. A square and a rectangle have same
perimeter. They differ in areas by
1 square cm. The length of the rectangle
exceeds its breadth by
(a) lcm '
(b) 2cm
(© 3 (_:m‘
d 4cm:
20. Two rectangies are of same area equa\l to
480 square cm. They differ in len'gths’ by 6 cm
" and breadths by 4 cm. What is the difference
in their peruneters ?
(@ 2cm
(b) - 4cm
() 6cm
(d 10cm
FDGT-T-EMT

Consider the following for the next three (03) items
that follow :

21.

22.

23.

(9-C)

A conical vessel of radius 12 ¢m and height
16 cm is filled with water. A sphere is lowered
into water and its size is such that it touches

the sides of the vessel and it is just immersed.

What is the radius of the sphere ?

(a) b5cm
(b) 6cm
() 65cm

d 7 cm

How much ‘water will remain m the vessel
after the overflow ? i

(a) 2881: mL
(B) 360n mL =
(¢) - 480mr mL
(d)  500n mL

What is ‘the ratio of lateral surface area of the
j Vessel to the surface area of the sphere ?

4

® 3
2

@ 3
3

@ 2




Consider the followzng for the next two ( 02) items

24.

. 25,

E 26.

FDGT-T-EMT .

that follow :

A chord of length ! of a circle makes an angle
90° at the centre of the circle.

What is the area of the minor segment ?

. 2.
(a). %(n—l) ‘ '

2-

1% 1
(b) Z(TC‘*E)

Triangle ABC is right-angled at A and AD is

perpendicular to BC. If BD = 7'5 cm and
DC = 10 cm, then what is AD equal to ?

(@) 5cm

(b) 5 \/5 cm
(¢ 543 ¢cm I'
(d 10cm |

;

27. The perpendlcular AD on the base BC of a

28.
~ AC = /38 BC. What is £ ABC equal to ?

29.

‘triangle ABC intersects BC at D S0 that

DB =3 CD. Which one of the followmg is
correct ?

()  2(AB+ AC) (AB - AC) = BC2
(b) 3(AB+AC)(AB - AC) = 2 BC?

() 4(AB+AC)(AB - AC) = 3 BC?

(d) 5(AB+AC) (AB - AC) = 4 BC?

Triangle ABC is right-arigled at C and

(a) 30°
(b) = 45° : ,
© | 60°

(d) 75°

IA a triangle ABC; /A = 60°. What is

. AB?+AC?-BC?equal to?

(a) AB.AC
() AB.BC
© AC.BC

@ 2 AB.AC

30.

The diameter of a sphere made of copper is

3 cm. The sphere is melted and recast into a
wire. If the length of the wire is half metre,
then what is the diameter of the wire ?

(a) 0:3cm
(b) 0:45cm
‘ (e) 06 cm

(d 075cem

(11-C) -




31.

82,

33.

34.

FDGT-T-EMT

If x is the harmonic mean between y_and z,
then which one of the following is correct ?

(@) xy+xz-yz=0

(b) xy+xz-2yz2=0
(© xy+xz+yz=0
(d) xy+xz-4yz=0

What is the median of all possible factors of
120 ? '

(a) 10

by 11

(c). 12 .
(d 135

The sum of deviations of a set of A'n values

-measured from 50 is — 10 and the sum of

deviations of the values measured from 46 is
70. What is the mean of the values ?

(a) 485
(b) 490
(c) 495
@ 500 ‘

Consider. the following table in respect of| .

* students of 4 schools who appeared in a test :

S.chool | Number of)- Average marks in
students the test - .
I | e | - 60
II 50 80
III 50 | - 40,
v | x 50

If the aVerzlage marks of the students of all four
schools are .58, then -how many students

“appeared from School-IV ?

" (a) 38
® 40. -
(c)‘42l,
d 44

36.

[36.

37.

(13-C)

- (d)

The data of different natural numbers

4,7,10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50
are in ascending order. How many possi'ble :
values are there for the median of the data for

various values of x ?

Only one value

(a)
(b)  Only tvyo values

(¢)  Only three values
(d)

Five values

If M is the mean of the first 100 even natural
numbers, then what is the mean of the

first 100 odd natural numbers ?

(a) M-1
.(b) M
| (c) v ,M,"'l
(d  M+2

-‘Mea‘n marks of 50 students were found to be

78:4. But later it was‘detected that -95 was
misread as 59 and 25 was misread as 52.

‘What is the difference between correct mean

and incorrect mean ? .

(a») 0-04
“(b) 6-08
012

0-18

\




38.

39.

40.

FDGT-T-EMT

In a triangle ABC, ZA =20, /B =/C =460
and 0 satisfies 4 sin20 + 2 sin 0 — 1 = 0. What
is the ratio of BC to AB ?

@ V5 -1 |
w WD
2
© (JE4— 1)
@ 265 -1

A circle is inscribed in a triangle ABC. It
touches the sides BC, CA, AB at D, E F
respectively. What is £ EDF equal to ?

(@) 90°=A
® 90°- B0
2
() 90°—2A (
o_[A ,
@ 9 (2J -

et

The length of a room is % tlmes its breadth

and breadth is % times its helght If H is the

height of the room and L is the longest rod |:

that can be placed in the room, then which one

of the following is correct ?

12L = 29H

(ay

(b) 9L =25H
(© 7L=23H
d 5L=13H

42.
- what is the value of /660 (tan8 + cot6) ?

[2. 3
41, Iftano= YL P
' p

43.

(15~C)

(o)

; 0 <8 <90° then what is
sec 0 + cos 0 + 2 equal to ?

p%+q?
pq

(a)

(p + q)?
Pq

(b)
(p+q)?
2pq

(p- q)2
Pq

(d)

If 11 sin 6 + 60 cos @ = 61; 0 < 6 < 90°, then

(a) 61

(b) 61J2
- \V(c) 122
@ 122V2

What is the diameter of a circle inscribed in a

regular polygon of 15 sides W1th side length

" unity ? .
.(a) 0-5 cot 12°
(b)  cot 12° \
(e 05 tan 12°.

(@  tan12°

N




tan0 + sec

-1

44. Ifx = 1+ sjn@ ,,then what is 47,
‘cos® , tan0 - sec +1
equal to ?
(a) -x .
(b) x-
(c) * 2x
@ =
) 2
45. Consider the following :
tanod + sin 0 _ secO+1
tan® -sin® .secO-1’ 48.
. T
Wherg 0<0< e
9 cos?0 —sin20 _ 2tan® )
. cos?0 + sin20 tan? .9 +1° B
where 0 < 0 <g.
Which of the abp_y(.eiis/,are identities ? 49.
(@) Only1 s ‘
(b) Only 2
(c) Both1land?2
* (d) Neither 1 nor 2
46. Ifw =5 where 0 < 0 <X, 9 =X,
sin 6 — cosO o 2 . 4
Ly o . 2sin0 + 3 cosO
. f ?, :
then what is the vellue_ 0 35in0- 2cos0 50,
@ 38
5
(b) 2
0 - 12
5
@ 3
FDGT-T-EMT (17-C)

1 1

If = = :
cosecO-cotd  sing then what. is
1.
cosecO+cotd  sind equal to, where
n
0<0< =27
2
(a) -x
(b) x
1
(o =
X
1
d -=
X

What is 2 sinf60 + 2 cos6 6 — 3 sin4 0 — 3 cost 0

equal to ?
(a)  —1
® 0
o 1

o (d 2,

What - ‘is - -the  minimum value of

- 3600 sec? 8 + 121 cosec2 6, where 0 < 0 < g ?

(@ 1320

‘ (b) 2401
() 3721
(d) 5041

o i 2 » \2
What is J(1+sm6) +[ Lol ) -2 equal

cos0 1+sin®

to,where0<e{g?

(@ tang
) oo

() 2tano

(d) 2coto



Consider the following for the next two (02) items
that follow

Consider the equation

6 26

6x2 — 25x +

—3 +— +12=0.
X X
51. What is one of the possible values of x — 1 ?
. X
1
(a) 5
3
b i
(b) 2
) 2 -~
. 5
d el
(D), D)
52. What is one of the possible values of x2 + iz ?
' X
@ 6
62
(b) 9
() 8.
- 82
4 - =2£
(d) 9

Consider the follo'wingr for the hext Ithl_'ee (63) items
_ that follow : ' '

A triangle ABC Vwith sides :AB =15 cm,

BC=9cm, CA=12cmis inscribed in a circle. |

What is cosZ A + cos2 B + cos2C équal to ?

53.
(a) g
b 1
© g
@ 2 '

FDGT-T-EMT

54. Whatis sinZA + sin2B + sin2 C equal to ?
(a) 2
5}
b e
(b) 1
“(e) 1
3
d i
(d) 1
55. What is the radius of the circle ?
(a) - 4-5cm
(b) 6cm
(e) 7-5 cm
(d) 15cm .

Consider the following for the next two (02) items
that follow :
Thé_ angie of elevation of a cloud at C from a
point (P), H metres above the surface of a lake
is 30°. The height of the cloud from the surface
of the lake is 2H metres. Let 8 be the angle of
depression of the reflection of the cloud in the .

(19—

lake from the point P.
56. What is the value of 6 ?°
(@) . 30° )
.. (b)  45°
() 60° .
(d) Cannot be determined due to
insufficient data-
57. What is PC equal to ?
(a) Hmetres
()  V2H metres
(¢) ' /3H metres
(d) 2H metres

C)



Consider the following fof the next three (03) items 61.
that follow :

A frequency distribution table is given below :

X 0 1

2

3

4

b5

N\

f | 46 | p

q

25

10

5

Total frequency is 200 and mean of the
distribution is 1-46. '

-~

i

58. . What is the value of p ?

(a)

(b)

©

(d)- «

70
72
76

78

.59. What is.the value of q ? .

(a)
(b)
' (c)
(d)

60. What is the median of the distribution ?

(a)
(b)
(e)

(d)

32
34
36

38

1 e
-2
3

4 8

FDGT-T-EMT

62.

63.

(21-C)

d+a

If a = 3b, 4b = 5¢, 6¢ = 7d, then what is

-a
equal to ?
(@) Z—; '
) | =
(c)'. —Z_; P
@ - =

What are’ the values of k -for which the

vpo_lynor.nial k — 3) x2 — kx — 1 has no real

linear factors ?

() k<-6

(b) 'A'—-6<k<2

If be + cd = 2bd and a + ¢ = 2b, then which

one of the following is correct ?

| (@) ab-cd=0

() ac-bd=0

(0 ad—bc=0"

(d ad+bc=0 =



64. In a flight of 2800 km, an aircraft was slowed |67. Ifp is the difference between a number and its

down due to bad weather. Its average speed
for the trip was ‘reduced by 100 km/hr and
time of flight increased by 30 mmutes What

was the original aver age speed of the aircraft ?
(a). 700 km/hr ‘

®) 750 km/hr

' (9) 800 km/lﬂ

> (d 900 km/hr
68.

A

65. If x=b+c, y=c+a, z=a+bh, thenwhat1s
(x+y+2)8 - 24xyz equal to? - g

(a) ad+b3+c3
(b) . 2(ad3+b3+¢d)
© 8(a3+b3icd)

. ; Y S 69.
(d) None of the above 1

66. A person X starts from a place A apd ahotiler
peréon Y starts simultaneously from another
place B which is d km away from A. They walk
in the same d1rect10n X walks at an average|
speed of u km/hr and Y walks at an average| .
speed of v km/hr. How far will X have walked

before he overtakes Y ? )
' g ' 70.
@) — '
(u-v)
& - vd | '
L (u-v) -
(ud - vd)
(o) ‘ g Ea
@  (ud + vd)
(u+v)

FOGT-T-EMT - - (23-C)

reciprocal and q is the difference between the

square of the same number and the square of

 its reciprocal, then what is pt+ 4p? edual to ?

(a) 4q
(b) 8q

' (c) 4q2.
d) q?

If x =2 + 21/2 then what is the value of
x4 + 16x-47?

(a) 152

b) 144

(c) 136 Ny ;e
@ 132 b

X takes 3 hours longer than Y to walk 30 km.
If X doubles his speed, he takes 2 hours less
than Y. What is the speed of Y ?

‘(@) -3km/hr

® 4k |

© 4% kvhr -
@ 43 fahr

If C is the compound interest on' T 10,000 for -

one year at 4% per annum when compounded

“quarterly, then which one of the following is

correct ?

(@ C<T100

b < 100 <C< ¥ 200
© T200<C<? 400
(d C>T 400



71. Consider the number N = 126 x 38 x 53, Which | 74.
- of the following statements is/are correct ?
1.  The number of odd factors of N is 0.
2.  The number of even factors of N is 720.
/ Select the correct answer using the code given
below :
(a) Onlyl ) .
(b) Only2 ‘ | .
(c) Bothland2
(d) Neither 1 nor 2
) ’ ' log, ¢ . '
72. If logioa _ 1°g101? - %10 , (@ = bz o),
b-c c-a’ a-b , :
‘then what is the value of abc ?
@ -1 g
() O
e 1 )
@ 3 .
73. What is the angle between the hour hand and |76.
- the minute hand of a ‘ciock when the clock |
E shows 4 hours 40 minutes ?’ \ .
(a) 80°
(b) 100°
() 120°
(d) 220°. f

FDGT-T-EIV_IT (25-C)

A1. X=
. Jp+a-p-gq

(0

(a)

If logm[995+ \/xz -123t+60:| = 3, then what

'is the sum of the roots of the equation ?

(a) 12

(b) 11,
ey 10

@ 9

. How many of the following values of x would

satisfy the equation qx2 — 2px + q =0 ?

. Jp+a+4p-q

, where p > q

2 2
p+4p° -
X = uJ—;wherep>q -

i

+
D , where'p > q

3. X =
' p—-q

Select the correct answer using the code given

Dbelow :
(a) - Only one value i
(b) Only two Values
All three vaihes
(d) None | " . )

-Let p(:»:.):"x4 +x2+1,

qx) = x4 — 2x3 + 8x2 - 2x + 1. If GCD of p(x) .
and q(x) is x2 - x + 1, then what is their LCM ?

(x2+x+ D2 —x+1)2
(b) (x4 +x24+1)2((x2-x+1)
(c) | (x4 +x2+ D2+ x+1)2

d) ' (x4+x2+ _1)(x2'— X; 1)2



71.

Consider the question and two statements
given below :

A 2-digit number is added to the number
formed by reversing the digits of the 2-digit

number.
Question : What is the 2-digit number ?

Statement-1: The sum is divisible by 9.

| _ Statement-2 : The sum is divisible by 2. -

78.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 alone is sufficient to

answer the question

~(b) Statement-2: alone is sufficient to
answer the question
(c) Both Statement-1 and Statement-2 aré
sufficient to answer the question
(d) "~ Both Statement-1 and Statement-2 are

not sufficient to answer the question
. .
_Consider the questlon and ‘two statements

.given below

LCM of two numbers x and y is 481 where.
X>y.

Question : .What is the value of (8x— 2y) ?

" Statement-1 : R ks 1.

~ Statement-2 : 'HCF ofxandyis1.. ‘

Which one of the following is correct in respect

of the question and the statements ?

(a) Statement-1 alone is sufﬁment to
answer the question .
(b) Statement-2 alone is sufficient to
. answer the question
/(&) Both Statement-1 and Statement-2 are
- sufficient to answer the question
(d Both Statement‘l and Statement-2 are
_not sufﬁc1ent to answer the quest1on
| ‘ .
FDGTJ:EMT |

79.

80.

(27-C)

Consider the question and two statements
given below :

Question : Is (x™ + y™) divisible by (x + y) ?

Statement-1: n is a natural number.
Statement-2 : n is an even natural number.

Which one of the following is correct in respect
of the question and the statements ?

(a) Statement-1 - alone is sufficient to

answer the question

(b) is sufficient to

Statement-2 alone
answer the question
(c) Both Statement-1 and Statement-2 are

sufficient to answer the question

(d) Both Statémen‘t-l and Statement-2 are

. not sufficient to answer the question

Consider the question and two statements.
given below :

Let x and y be two real numbel‘s.

Question : Isxy >0 2 =
Statement-1: x8y° < 0.

Statement-2 : x%10 < 0.

Which one of the following is correct in respect

. of the question and the statements ?

| (a)

sufficient to

Statement-1 alone is
answer the question \
(b) Statement-2 alone is sufficient to
‘ answer the question
(c) Both Statoment-l ‘and Statement-2 are
sufficient to answer the question
(d) Both Statement-1 and Statement-2 are

not sufficient to answer the question



Consider the following statements :

81. 83. Xand Y can do a piece of work in 45 days and
. 40 days respectively. They begin to work
L x4 (y-2+y*@z-x)+z4(x-y) is together, but X leaves after n days and then Y
positive itz s y% g, completes the remaining work in 23 days.
What is n equal to ?
2. xty-2)+yt@-x)+2d(x-y) is (a) 8
negative if x <y < z. ,
| i ()9
Which of the above statements is/are correct ? (C) 10
(@) Onlyl @12
(b). Only2
(© Both1and?2 N 84. 4&0 persons \fvoxjkmg 10 hours per day
» complete one-fourth of a work in 10 days. How
(d) Neither 1 nor 2 many additional persons are to be employed in
' : order to complete the remaining work in -
. 20 days, working 8 hours per day ?
. (a) 400 |
. : (b) 420
: 6 _ 4 2 '
82. What is —> o> P oqual| (@ 480
: (x2 +44/3x +12)(x - 2V3) : :
to ? 7 » ~(d) 500
, AL m S =13, H- 29p y
@ x - B
" , - 185. 12 women and 16 men can do a piece of work
© 222 . * + gp in 5 days. 13 women and 24 men can do it in
ey : 4 days. How long will 25 women and 50 men
s Nz ‘take to do it ?
© x2+93 7 /" laeo oit
: ' R ‘(a)' 1day
@ x2-23 (PR ) 2days
" e (¢) 38days
’ S —C g (d) -4days
; N F-5oxd
FDGT-T-EMT = oo - 2
‘ " Az Yoy (29-C) ey g
> P



86. There ‘are two stations X and Y, 1320 km
apart. A train starté’from station X at 6 a.m.
~ and moves at an average spee(l of 60 km/hr. At
2 p.m. another train starts froln Y towards X
and moves at an average speed of 80 km/hr.
When do they meet ? |
(a) 6pm.
(b) 7pm.
(c) 8pm.
(d 9pm.

'8-7. Two glasses of equal volume are ﬁlled w1th a
mixture of alcohol and water in the ratio 3 :. 2| ~
and 4:1, respectively. These. ‘ glasses' are

_ empt1ed mto a third glass. What is the ratio of
alcohol and water in the third glass ? ,
@ 6:4° - . ok

® 7 12 |

- () 7:8 -

2 &
(d) 7:4 ‘
FDGT-T-EMT (31

88. If x is the HCF and y is the LCM of

3 6 9 27
65’25’20’ 50’

following is correct ?

then which one of the

(a) y=90x
) y-180x
| () y= 270x
y = 360x

(d)

89. There are two natural numbers x and y, where
X ;‘y. When x is divided by 6, it leaves the
remainder 2 and; when y is divided by 6, it
' leaves the remalnder 3. What is the remainder

when (x — y) is d1v1ded by 67

g (a) 1
() 3
(c) 5
) (d) vRemainder cannot be de‘eefmined

hE

90.. The Value of a 2Qdigi_t number is 5 times the

sum of the digits. What is the product of the

digits ?
(a) lg
b) 18
() 20
@ 27

-C)



91.

If

£ 2
x“-20= \/20 + JZO + \/20 +/20 + ... infinite terms,

92,

93.

FDGT-T-EMT

(@

(b)

(@)

then what is x equai to?
(@ 4

(b) 5

J5

25

(c)

(d)

c+d
d+a

a+b _
b+c

where a # ¢, then which one

of the following is correct ?
a+b=c+d

é.+c =b+_<‘i' _

(0 a-b-c+d=0

(d) a+_t;+>c_+<'i=0

If (a3 + b3) is proportional to (a2 — b?), then

(a2 - ab + b?) is proportional tro‘
(a) (a-b)
b (a+ b)

(c} (a +ab +b)

| (a3 - Db3)

95.

96.

97.

(33-C)

= —’;-,, then what is the

value of \/(x +20)(x - 1) ?

@ 8

B 9
(e 10
@ 12

What is the ‘HCF of (x8-y8 and

‘(x7-_ y7 + x5y2 . X2y5) ?

@ (2+y2)

® @@-yd

‘(0 xB-y -x%y+xy?)

(d) x3-y3+x2%y—xy?) -

If the sum of .the squareé bf the roots of the
equation x2 — 14x + k = 0 is 100, then what is »
the value of k ?

(a) 42
®) 48
© 52
@ 56

If (x + k) is the HCF of x? + px + q and
x2 + qx + p; where p # q, then what is the
value of k ? '

1
{

@, -1
() o0
'(c). % l
@ -1



98.

99.

PN NY o ea aw

If three times the greater of two numbers is
divided by the smaller number, the quotient
will be 6 and the remainder will be 6. If five
times the smaller number is divided .by the
greater number, the quotient will be 2 and the

remainder will be 3. What is the difference
between the numbers ?

(@ 8
®d 9
() 10
@ 12

Consider the following statements : ’
1. (ab + be + ca)- is a factqr of
a2(b—c)3 +b2(c—a)3+c2(a—b)3.

2. (a+b+e¢), - is a factor pf
a2(b=c)® +b2(c-a)? +¢2(a-Db)3.

Which of the statements given above is/are

correct ?
(a) Onlyl
(b) Only2

(¢) Both1and?2
(d) Neither 1 nor 2 | ' A

(35—

100. What is
1

1

i(x—y)(x—z) * y (y —z)y - %)

/

equal to ?
(a O,
b 1
(c) L
Xyz
@ - 1
XyZ

C)

1
z(z-x)z-y)
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